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1) A clothing company used 2 buttons on jeans and 3 buttons on shirts. If
they made 8 shirts and 1 pair of jeans how many buttons would they use
total?

3×8=24
24+2=26

2) It takes 9 ounces of cheese to make a burrito and 7 ounces for a taco. If
you wanted 8 burritos and 1 taco how many ounces of cheese would you
need?

8×9=72
72+7=79

3) At a comic convention Debby wanted to buy 4 comics, but each one costs
5 dollars, plus it costs 7 to even get in. How much money should she take
with her so she can get in and buy what she wants?

4×5=20
20+7=27

4) A florist needed to use 6 pounds of fertilizer for 5 days and then on the
final day use the normal amount plus another 7 pounds. How many
pounds of fertilizer will she use all together?

6×5=30
30+7=37

5) A report said that each day the average Youtube viewer watches 5 videos
with each video lasting 7 minutes. Additionally they also watch 4 minutes
of ads. According to the report, how many minutes total do people spend
on Youtube?

5×7=35
35+4=39

6) A pet store sold 7 kittens and 1 puppy over the weekend. The kittens sold
for $9 each and the puppy sold for $8. How much money did they earn
from selling the pets?

7×9=63
63+8=71

7) Luke earned 4 dollars for every lawn he mowed. If he mowed 6 lawns and
he already had 8 dollars saved up, how much money does he have total?

6×4=24
24+8=32

8) While playing a game John defeated 7 enemies. Each enemy earned him 8
points. Then he got another 5 points for completing the level. How many
points did he earn total?

7×8=56
56+5=61

9) Lana's brother had 4 pieces of candy. Lana had 8 boxes with 2 pieces
each. How many pieces did they have total?

8×2=16
16+4=20

10) Isabel worked as a sacker at the grocery store where she made $9/hr. If she
worked for 3 hours and also made $8 in tips, how much money did she
earn?

3×9=27
27+8=35

1. 26

2. 79

3. 27

4. 37

5. 39

6. 71

7. 32

8. 61

9. 20

10. 35

     

Solve each problem.
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1) A clothing company used 2 buttons on jeans and 3 buttons on shirts. If
they made 8 shirts and 1 pair of jeans how many buttons would they use
total?

3×8=24
24+2=26

2) It takes 9 ounces of cheese to make a burrito and 7 ounces for a taco. If
you wanted 8 burritos and 1 taco how many ounces of cheese would you
need?

8×9=72
72+7=79

3) At a comic convention Debby wanted to buy 4 comics, but each one costs
5 dollars, plus it costs 7 to even get in. How much money should she take
with her so she can get in and buy what she wants?

4×5=20
20+7=27

4) A florist needed to use 6 pounds of fertilizer for 5 days and then on the
final day use the normal amount plus another 7 pounds. How many
pounds of fertilizer will she use all together?

6×5=30
30+7=37

5) A report said that each day the average Youtube viewer watches 5 videos
with each video lasting 7 minutes. Additionally they also watch 4 minutes
of ads. According to the report, how many minutes total do people spend
on Youtube?

5×7=35
35+4=39

6) A pet store sold 7 kittens and 1 puppy over the weekend. The kittens sold
for $9 each and the puppy sold for $8. How much money did they earn
from selling the pets?

7×9=63
63+8=71

7) Luke earned 4 dollars for every lawn he mowed. If he mowed 6 lawns and
he already had 8 dollars saved up, how much money does he have total?

6×4=24
24+8=32

8) While playing a game John defeated 7 enemies. Each enemy earned him 8
points. Then he got another 5 points for completing the level. How many
points did he earn total?

7×8=56
56+5=61

71 61 39 37 32

26 27 79

1. 26
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